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(O]=1]
2y 0.73% (+2.0bp)
10y 1.56% (+4.4bp)

30y 228% (+5.2bp)

[7|E} 10YE]
¥z 0.53% (+1.3bp)
=9 -0.08% (+3.4bp)

Z2A 0.14% (+2.9bp)
0|Et2|0}  1.05% (+1.6bp)
ATQ  093% (+0.8bp)

dz|A  7.97% (-1.5bp)
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*< @ Orzd> H 2827| GDP BXIo| 512f...0.30% |

257 GDP(QoQ) 0.5% — 0.0% (0] A:0.2%)

DOW30 18636.05 (+0.32%)...At&t |0 X|
NASDAQ 5262.02 (+0.56%)...Atat X[11X]
S&P500 2190.15 (+0.28%)...At&H X[ K|

NIKKEI225  16869.56 (-0.30%)

SHANGHAI 312520 (+2.44%). K= 774l %1% 7|2

FTSE100 6941.19 (+0.36%)
DAX30 10739.21 (+0.24%)
CAC40 4497.86 (-0.05%)
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SE2/¢8 11181 (+0.0019)
F2/4 113.23 (+0.31)
e/l 101.25 (+0.04)
(-0.0113)

SHE{/29t  6.6430

1.28772 (-0.00347)
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WTI 45.74 (+2.80%)

COMEXE  1347.50 (+0.30%)

5. Y =W A&

[Am 205047 (+0.08%)
TAAEF 705.18 (+0.26%)
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*KTB: 111.06, M YH| +1El

*LKTB: 133.47, M H| -5E
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3y 1230% (+0.8bp)
Sy 1.255%  (+0.7bp)
10y  1410% (+14bp)

cD 1.360%  (Obp)

3y -1.9bp (-0.5bp)
Sy -3.3bp (-0.2bp)

10y -13.8bp  (+0.1bp)
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1Y 1.2500% (-0.50bp)
2Y 1.2125%  (Obp)
3y 1.2075%  (Obp)
5Y  1.2200%  (+0.25bp)
7Y  1.2300%  (+0.50bp)

10Y 1.2675% (+1.00bp)

1*2Y -3.75  (+0.50bp)
2*3Y  -050 (Obp)
2*sY 075 (+0.25bp)
3*5Y 125  (+0.25bp)
5*7Y 100  (+0.25bp)

5*10Y 475 (+0.75bp)

*CRS =2

1Y 11950% (-2.00bp)
2Y 1.1100%  (-1.50bp)
3y  1.0800% (-0.50bp)
5Y  1.0400%  (-0.50bp)
7Y 1.0150%  (-0.50bp)

10Y 1.0000%  (-0.50bp)
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0|2-72 7AZ=37HMoM) (0| F:1.153M, 0] Ak1.160M)

-78 CPI(MoM) (0|7:0.2%, 0| A:0.1%)

-78 ZLICPI(MoM) (0]H:0.2%, 0f&+:0.2%)
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| Z= 1M AH(MoM) (O] F:0.4%, Of4+:0.3%)

79 e
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AH(MoM) (0]7H:0.6%, 0Of| 4:0.3%)

=79 CPI(MoM) (0|:0.2%, Of|Ak-0.1%)
SH2-72 225 0H(YoY)(0| M:-10.2%, Ol Z:-10.2%)

78 =UH(YoY) (0| M:-14.0%, 0| =:-14.0%)
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[HYSHAIE R (FOMQ) 78 2]2] OJALEF]

FR-68 HAS (01H49% 0|4:49%)

8& 18¢

[FESL2AEC) 78 SHEH| 2| QJAF]

O|=-ArdY+S8 U (017:266K, 0f&:265K)

-8 LtAOOorH2M =YX (0]7:-2.9, 0 &:2.0)

-79 CBMEX|4(MoM) (0]7:0.3%, Of AH0.3%)
o2 =79 CPI(MoM) (0] H:0.2%, 0fAt:-0.5%)
-7 Z2CPI(MoM) (0]H:0.0%)
gd=-7g A0jEH0j(MoM) (0] ™:-0.9%, 0 A:0.2%)
78 2LAADHEHOf(MoM) (0|7:-0.9%, 0f Ak0.4%)

UA=-78 TOLX| (0]F:693B, 0f4H:284B)
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